|

Nk +4) 5 (=D -4)08) Lep= (-H(x )

93(}/, \{7‘7 ] KAS !
(

ASMT !

9<1+ Tx + /1A = xi»&x + 4
2

X X
B = - 5+ 4
Tx + 12 Iy
+5%
1A+ 13 = 4
=14 -/
JAx = =8
13 /A

A
X = 3



6 [ }4fo+ - §>LH(:(* MR | x p)(x#1)
X o G

x4 x - ('x+'-l->= x4 5% + 4

x4x —x =Y = x4 5% +9

1 L
X- 9 = X-(—S’X—l"-l
> —x?
-4 = 5xX + 4
-4 -4
-8 = 5
5T 5
g -







Ax L9 — 70

% c[m/"?‘—
Ix = + /O
f@;/t)é‘-]éf?xa-—&c ) m.—fb
Ax 1o +5x - a5 _10(5)

Ax (x - 5)+ 5(x=5)
(x-5)(Ax +5) done-



éx‘ -)-‘Lll - /) Prod - 60
bx° 4 15% -tn -t = /

N————— —‘/(IS)
3x éx"' 5)-' &(ZX +5) éxz _tne 4 15 x~ 10
(Ax+5)(3%-2) Ax(3x-2)+ 5(Gx=2)
(;gx.:z,)(;h(f 5)
3 X * o
1 X

%
A
4

x’ - ¢’ .
(=) +xy + 4 )

4
;
j



—

=

o~

Cal culus

(ana-%c + /0
Ax =Yy —=5x+ 10
Ax (x-3)—5 (x - 2)

(x- 2@ -5)



m

(i + ,3(m4n’am@

3n3+l The pum twp colee

~ rd -10 . X2
x 3% - /0 4 & 5K

(% =5 )x+ 2

/

X+ Ax—Ex ~ 40

«x (x+2)— 5 (x+2)
(X+2)(x~5)



077%3 ¥+ (H 23
(5X)3 + (42\3
(Fx + 42\([Gx — /3% 2 +/éz")

3t < x-16 pred 30 (5)F6)
Fx —Lx +5x— 1D pon
3x (¥ - 3) + 5(x-2)

(x-2)(3x + 5)



Hrt ] +3
@ 3 - X LED= Oy ()(c43)

e Sx +Y X +4u+3
(L’“-”\ dxel . (*+3) x+4>
~X+3 /('xw)(xw) (x+ 3 NXt ¢

4{3%*’311—.5 - ('xa-r- Tx 4'@ N
(x+3)(x+ §) (~4))

I+ 13 +3 - X'~ Tx-12
(x+3) (x+ F)(x+N .
It 4t bx —9
(x+ ) )+ 1)
3(x™ ax-3)
(x+ 3)(7<'+4) (’x+l>

B3(3)(x-1)

(543)( %+ H) (x+)

_J0en)
(X+4)(x+()







— 3(-:)- -3









b







	Page 1: May 2-11:03 AM
	Page 2: May 2-11:08 AM
	Page 3: May 2-11:11 AM
	Page 4: May 2-11:14 AM
	Page 5: May 2-11:33 AM
	Page 6: May 2-11:38 AM
	Page 7: May 2-11:43 AM
	Page 8: May 2-11:47 AM
	Page 9: May 2-11:50 AM
	Page 10: May 2-11:56 AM
	Page 11: May 2-12:01 PM
	Page 12: May 2-12:03 PM
	Page 13: May 2-12:04 PM
	Page 14: May 2-12:17 PM
	Page 15: May 2-12:25 PM

